Math 105 TOPICS IN MATHEMATICS
SOLUTION FOR QUIZ — IX (04/01)
April 1 (Wed), 2015

Instructor: Yasuyuki Kachi

Line #: 52920.

(logs 8) = n =
e s = st e = L7
log, 9 In 22
[II] (2pts) 9 = 4 . 22 = e
[ITI1] (2pts)
(a) - b) — =
¢ log, 6 ©8m 7| logs 31 1°8em[18
[IV] (4pts) (1)  logs 27 = 3. (2)  log, 100000 = 5.
3)  logs — 4 @ log, — 5
= 4. og, ——— = —DhH.
85 "625 84 7024
[V] (2pts)
(1) logs 5V7T = V7. (2)  em16 = 16
[VI] (2pts)
logs 7 log, 41
_ 2 =
(1) logs 4 log 7 (2) log; e n| 41




[VII] (8pts) (1) <1n 100) . <ln 20) = In

(2) 2In3 = In|9

3) 243 = [5 (m 3).
7

4) %1 = — <1n 2).
5

(5> e(1n4)—|—(ln 11) _ 44.

6) M2 = 8

(7)  In8wms = 1.

(8) 8wy = e.




